
次の式を因数分解しなさい。 

x2+8x+15 

＝  

x2－8x+15 

＝  

x2+2x－15 

＝  

x2－3x－15 

＝  

x2－9 

＝  

x2－6x+9 

＝  

2x2+2x－4 
＝  

＝  

 

2x2+12x+18 
＝  

＝  

  

 

 

 

次の計算のくふうを示しなさい。 

 

 

3662 － 3652 

 

 

41 × 39＝ 
 

 

 

 

9.82 
 

 

 

 

 

 

 

 

 

 

 

 



 

次の計算をしなさい。 

 

n2 +(n+1)2 

 

＝ 

 

= 

 

 

(n+1)2 －n2 

 

＝ 

 

= 

 

 

n2－(n－1)2 

 

＝ 

 

 

(n+1)(n－1) 

 

＝ 

 

 

(n+1)2 －(n－1)2 

 

＝ 

 

 

 

 

(2n+1)2－(2n－1)2 

 

＝ 
 

＝ 
 

偶数か奇数か答えよ。 

 

n+m が 偶数のとき 

n－m は である。 

 

 

 

n+m が 奇数のとき 

n－m は である。 

 

 

 

 

n－m が 奇数のとき 

n+m+1
は 

である。 

 

 

 



次のことを説明しなさい。 

連続する２つの自然数の 

２乗の和は 

奇数である。 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

9X2 －42X + 49 

 

 

 

 

 

 

4X2   +24X + 36 

 

 

 

X4 －1 

 

 

 

X2 －Y2  -X – Y 

 

 

 

(2n-1）2 －(2m-1) 2 
 

連続する 3 つの自然数の 

真ん中の数の２乗と 

両端の数の積との 

差は常に１である。 

2乗(平方数) 1~20まで  1，4，9，16，25，36，49，64，81,100, 

121,144,169,196,225,256,289,324,361,400 



I'll Follow The Sun / The Beatles 

One day 
You'll look to see I've gone 
For tomorrow may rain 
So I'll follow the sun 

Some day 
You'll know I was the one 
But tomorrow may rain 
So I'll follow the sun 

And now the time has come 
And so my love I must go 
And though I lose a friend 
In the end you will know 

Oh one day 
You'll find that I have gone 
But tomorrow may rain 
So I'll follow the sun 

Yet tomorrow may rain 
So I'll follow the sun 

And now the time has come 
And so my love I must go 
And though I lose a friend 
In the end you will know 

Oh one day 
You'll find that I have gone 
But tomorrow may rain 
So I'll follow the sun










